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& 600 | 6x50 01243 | 00312 | 01282 SOREERLET.

g 800 | 6x75 00873 | 0.0221 0.0901

=] 1000 |10x75 00515 | 00317 | 0.0605
& 1200 |10x100 00396 | 00249 | 0.0468
B 1500  |10x125 00326 | 00206 | 0.0386

:z 2000  |10x175 00243 | 00153 | 0.0287
% 2500  |10x250 00180 | 00110 | 0.0211
E"é:‘; 3000 [10x150x(2) | 00139 | 00088 | 0.0164

_F 3500 [10x175x(2)| 00122 | 00076 | 0.0144
B 4000  |10x200x(2)| 00109 | 00068 | 0.0128
i 4500  |10x150x(3)| 0.0093 | 00058 | 0.0110

— 5000  |10x175x(3) | 0.0081 0.0051 0.0096
% %ﬁo)»ryt"—ﬁv“yz Z=Ri+iX. (mQ/m) (mQ/m)
i 5 . 2 & . z
E | R | ac.ac | 2270 ior—n| 2c.3c | 270 ics—n R | 2c.ac | 2270 ior—n| 2c.3c | 52270 | ics—n
g &Aﬁgﬁ =) i 6emEE | I e GemiER &%E =7l i 6emE®E | T = GemiR

| (mm?) (mm?)

7@ ®16 | 892 | 0103 | 0216 | 0281 | 892 | 892 | 893 50 | 0373 | 0.082 | 0.143 | 0.178 | 0.382 | 0.399 | 0.413
B | w2 | 565 | 0096 | 0201 | 0273 | 565 | 565 | 566 60 | 0303 | 0.080 | 0.139 | 0.172 | 0.313 | 0.333 | 0.348
= $26 | 335 | 0005 | 0191 | 0256 | 335 | 336 | 3.36 80 | 0229 | 0.078 | 0.134 | 0.163 | 0.242 | 0.265 | 0.281

& 2 | 924 | 0099 | 0208 | 0279 | 924 | 924 | 924 100 | 0180 | 0.076 | 0.129 | 0.155 | 0.195 | 0.222 | 0.238
i 35 | 520 | 0091 | 0.190 | 0261 | 520 | 520 | 521 125 | 0144 | 0.076 | 0.128 | 0.148 | 0.163 | 0.193 | 0.207
5 55 | 333 | 0091 | 0.181 | 0247 | 333 | 334 | 3.34 150 | 0118 | 0.076 | 0.126 | 0.142 | 0.140 | 0.173 | 0.185

8 | 231 | 0001 | 0.175 | 0236 | 231 | 232 | 2.32 200 | 0002 | 0.074 | 0.126 | 0.134 | 0.118 | 0.156 | 0.163
B 14 | 130 | 0088 | 0.167 | 0218 | 1.30 | 1.31 | 1.32 250 | 0072 | 0.074 | 0.124 | 0.126 | 0.103 | 0.143 | 0.145
20 | 0.824 | 0086 | 0.158 | 0203 | 0828 | 0839 | 0.849 | | 300 | 0057 | 0.073 | 0.121 | 0.118 | 0.092 | 0.134 | 0.131
30 | 0623|0086 | 0.149 | 0.195 | 0629 | 0640 | 0653 | | 400 | 0.045 | 0.072 | 0.119 | 0.112 | 0.085 | 0.127 | 0.120
38 | 0487 | 0084 | 0.147 | 0.187 | 0494 | 0509 | 0522 | | 500 | 0037 | 0.071 | 0.117 | 0.105 | 0.081 | 0.123 | 0.112
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